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QUESTION 1

Which of the following is not an example of a cyber-crime? 

A. Fraud achieved by the manipulation of the computer records 

B. Firing an employee for misconduct 

C. Deliberate circumvention of the computer security systems 

D. Intellectual property theft, including software piracy 

Correct Answer: B 

 

QUESTION 2

Brian needs to acquire data from RAID storage. Which of the following acquisition methods is recommended to retrieve
only the data relevant to the investigation? 

A. Static Acquisition 

B. Sparse or Logical Acquisition 

C. Bit-stream disk-to-disk Acquisition 

D. Bit-by-bit Acquisition 

Correct Answer: B 

 

 

QUESTION 3

What must be obtained before an investigation is carried out at a location? 

A. Search warrant 

B. Subpoena 

C. Habeas corpus 

D. Modus operandi 

Correct Answer: A 

 

QUESTION 4

Lance wants to place a honeypot on his network. Which of the following would be your recommendations? 
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A. Use a system that has a dynamic addressing on the network 

B. Use a system that is not directly interacing with the router 

C. Use it on a system in an external DMZ in front of the firewall 

D. It doesn\\'t matter as all replies are faked 

Correct Answer: D 

 

QUESTION 5

Given the drive dimensions as follows and assuming a sector has 512 bytes, what is the capacity of the described hard
drive? 22,164 cylinders/disk 80 heads/cylinder 63 sectors/track 

A. 53.26 GB 

B. 57.19 GB 

C. 11.17 GB 

D. 10 GB 

Correct Answer: A 
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